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2. The paper is divided in three sections. Questions from each section should be
attempted together.

3. All questions are compulsory.

4. Marks are indicated against each question.

5. Answers may be written in Hindi or English but the same medium should be
followed throughout the paper.
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SECTION A (@WE )
1. (a) Suppose the demand function is Q , = 300/P, derive (5)

(i) Individual demand schedule

P.T.O.
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(b)

(©)

(a)

(b)

(c)

(ii) Individual demand curve
(iii) What type of demand curve is this ?

(iv) What is the value of elasticity of demand ?

Calculate cross elasticity of demand between Lemon and Tea and state the

type of relationship. (5)
Before After

Goods Price Quantity Price Quantity

Lemon (Z) 10 20 20 15

Tea (X) 20 40 20 35

Prove that the supply curve passing through the origin has elasticity equal to
one. (5)

OR

From the two demand schedules given below using total expenditure method

determine the elasticity of demand. 5)
Price (P) 4 3 2 1
Quantity (Qx) 120 150 200 300
Quantity (Qy) 225 325 500 1100

Define cross-elasticity of demand. An individual spends all his income on 2
goods X & Y. If a 50% increase in the price of the good X does not change
the amount consume of Y, what is the price elasticity of good X. (5)

Prove that supply curve given by :
(1) Qsx = 1000 Px has unit elasticity

(i) Qsy = 2000 + 1000 Py is inelastic (5)

(37) wn f& Wi & # Q,, = 300/P,, TET=T WY :

(i) dafrer T sFEsR
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(i) afcres wi @
(iii) <& AT qF T YPR ¥4 8 ?
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EisS L qR\mor = gfan
g (Z) 10 20 20 15
= (X) 20 40 20 35

(u) Rag =iom i 9@ (origin) # T g30 3MUfF ok A A v & @9 (equal to one)
Bt 2 1
reran
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T (P) 4 3 2 1
gfamoy (Qx) 120 150 200 300
qftamor (Qy) 225 325 500 1100
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(i) Qsx = 1000 Px ¥ & v 9 21

(i) Qsy = 2000 + 1000 Py sel=r & |
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3.

(a)

(b)

(a)

(b)

4

Consumer is better off with cash subsidy than with excise subsidy. Explain
why grants are always given in the form of excise subsidy rather than cash
subsidy. (7.5)

Draw indifference curve between T-shirts and Pepsi for Karan who has
stronger preference for T-shirts and for Varun who has a stronger preference
for Pepsi. (7.5)

OR

Explain, price effect is summation of income effect and substitution effect in
case of a Giffen good. (7.5)

Monica spends her entire income of Rs. 600 on goods X & Y. The price of
good X is Rs. 30.00 and price of good Y is Rs. 10.00. If she consumes 12X
and 24Y, is she in equilibrium. Show it diagrammatically. (7.5)
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SECTION B (W@T 4)

Show that in a linear homogeneous Cobb-Douglas production function
X = AL°KP
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(b)

(a)-

(b)
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(1) If all inputs are increased in the same proportion then output also
increases in the same proportion. (3.5)

(i) The average and marginal product depends on the input ratio % .4

Distinguish between returns to a factor and returns to scale. Is the following
proposition compatible ?

‘Decreasing returns to scale and decreasing returns to a factor. (7.5)

OR

What are Ridge lines ? Only those portions of the isoquants lying between
the Ridge lines are relevant to production. Explain. (7.5)

Prove that the slope of isoquant is equal to the ratio of MP,_ and MPk.
Explain Why MRTS | is likely to diminish as more and more labour is
substituted for capital. (7.5)

(31) frarEd fr FE-oE & WA a9 F IAeT ®F X = ALKP 21
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4. (a)
(b)
(a)
(b)
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Explain the shapes of short-run cost curves. Analyze the relationship
between Average Cost (AC), Average Variable Cost (AVC) and Marginal
Cost (MC). (7.5)

If the average cost curve is U-shaped, explain the slope of total cost
curve. When is the long run total cost curve a straight line through the
origin ? (7.5)

OR

Derive LAC from short run plant curves. Also explain why LAC curve is

flatter than short run cost curves ? (7.5)

What is an Engel Curve ? Explain the relationship between Engel curve and
demand Curve. (7.5)

G-Il IRTT Tht a1 SHAT ol qUIT Siforg | 3ited T, siad aRad=ee
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SECTION C (@g )

Explain and derive diagrammatically the long run supply curve of an increasing

cost industry under perfect competitive market. (7.5)

“Long run equilibrium for a firm under perfect competition takes place when

price is equal to the minimum Long Run Average Cost”. Explain. (7.5)
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OR

(a) Show how the impact of per unit excise tax depends on elasticities of demand

and supply. (7.5)
(b) What is the difference between :
(1) Accounting Profit and Economic Profit 3.5)
(11) Walrasian Stability and Marshallian stability 4)
(3r) gufe: wfoallt SI9R % Ter Sga ST SUNT A el - el i o @ WX A ey
T {@RIEE iR | '
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